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Example

1. Which of the following is the ground state electronic

configuration of Cr?(Atomic number of Cr is 24)

A. 

B. 

C. 

D. 

1s22s22p63s23p63d44s2

1s22s22p63s23p63d54s1

1s22s22p63s23p63d6

1s22s22p63s23s23p63d34s24p1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A1PrqEJl2vzU


Answer:

Watch Video Solution

2. The state of hybridisation of the central atom of which of the

following is ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

sp3d2

SF4

PCl5

SF6

SO
2 −
4

https://dl.doubtnut.com/l/_A1PrqEJl2vzU
https://dl.doubtnut.com/l/_URNkZmMyBc5s


3. Which of the following is the correct order of repulsive

interaction of lone pair(lp) and bond pair (bp) of electrons?

A. lp - lp  lp -bp  bp - bp

B. lp - bp  lp - lp  bp - bp

C. bp - bp  lp - lp  lp -bp

D. lp -lp  bp - bp-  lp - bp

Answer:

Watch Video Solution

> >

> >

> >

> >

4. The cause of spherical shape of water drops is-

A. viscosity

B. surface tension

https://dl.doubtnut.com/l/_CBEGBjrxzpEr
https://dl.doubtnut.com/l/_fIKqcGKf1DsM


C. hydrogen bond

D. high critical temperature of  vapour.

Answer:

Watch Video Solution

H2O

5. An amount of work w is done by a system and q amount of heat

is supplied to the system. By which of the following relation the

change in internal energy of the system can be expressed?-

A. 

B. 

C. 

D. 

Answer:

ΔU = q − w

ΔU = q + w

ΔU = q

ΔU = w − q

https://dl.doubtnut.com/l/_fIKqcGKf1DsM
https://dl.doubtnut.com/l/_EElffcSgbabR


Watch Video Solution

6. Which one of the following indicates a spontameous process?-

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔG = O

ΔH = TΔS

ΔG > O

ΔG < O

7. Establish the relation between  and  for the reaction Kp Kc

2SO2(g) + O2(g) ⇔ 2SO3(g)

https://dl.doubtnut.com/l/_EElffcSgbabR
https://dl.doubtnut.com/l/_Qb3twY46QCKB
https://dl.doubtnut.com/l/_X9pI63fEH43d


A. 

B. 

C. Kp = KcRT

D. 

Answer:

Watch Video Solution

Kp = Kc

Kp = Kc(RT ) − 1

Kp = Kc(RT )2.

8. Which one of the following elemants shows diagonal relation-

ship with magnesium?-

A. Na

B. Li

C. Be

D. Ca

https://dl.doubtnut.com/l/_X9pI63fEH43d
https://dl.doubtnut.com/l/_7bff2S050vgh


Answer:

Watch Video Solution

9. Sodium is preserved in which of the following liquids?-

A. Water

B. Ethanol

C. Kerosene oil

D. Methanol

Answer:

Watch Video Solution

10. Which of the following is a carbanion?-

https://dl.doubtnut.com/l/_7bff2S050vgh
https://dl.doubtnut.com/l/_1vi3oXGIt4Ud
https://dl.doubtnut.com/l/_gJ4hUOlts5oc


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3O
−

CH3CH
−

2

CH3COO
−

C6H5O
−

11. In the Lassaigne test for the detec-tion of nitrogen in an

organic compound, with which of the following metals the

organic compound is fusde?-

A. Li

B. Mg

C. Na

https://dl.doubtnut.com/l/_gJ4hUOlts5oc
https://dl.doubtnut.com/l/_ernN4fUXe9b5


D. Zn.

Answer:

Watch Video Solution

12. Which of the following compounds does not produce a white

precipitate on treatment with ammonicacal silver nitrate

solution?-

A. Acetylene

B. Methyl acetylaene

C. Ethyl acetylene

D. Dimethyl acetylene.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ernN4fUXe9b5
https://dl.doubtnut.com/l/_i3SQ2TJd9cmh


13. In which of the following reaction the product is not formed

according to Markownikonikoff' rule?-

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH = CH2 + HCl →

CH3CH=CH
2 + HCI

peroxide
−−−−→

CH3CH = CH2 + HBr →

CH3CH = CH2 + HBr
peroxide
−−−−→

14. Which of the following gases emitted by motor vehicles is

responsible for the formation of photochemical smog?-

https://dl.doubtnut.com/l/_i3SQ2TJd9cmh
https://dl.doubtnut.com/l/_82hnrRC2zrjc
https://dl.doubtnut.com/l/_xa5AZLzybGQ1


A. `SO_2

B. CO

C. NO

D. 

Answer:

Watch Video Solution

CO2.

15. The empirical formula of an organic compound is  and

its moleclar weight is 180. What is the molecular formula of the

compound? (H = 1, C = 12, O = 16)

Watch Video Solution

CH2O

https://dl.doubtnut.com/l/_xa5AZLzybGQ1
https://dl.doubtnut.com/l/_V02vjKU8E3Ci


16. Arrange the following elements in the increasing order of

their first ionisation enthalpy : Li, Be, Na, Mg.

Watch Video Solution

17. Arrange the following elements in the decreasing order of

their electronegativity : Si, N, F, Cl .

Watch Video Solution

18. What is meant by an isolated system in thermodynamics?

Watch Video Solution

19. Write the SI unit of entropy.

https://dl.doubtnut.com/l/_MI38hv6UH8yr
https://dl.doubtnut.com/l/_2luRfr8IBoPi
https://dl.doubtnut.com/l/_96EOGDTBhcsJ
https://dl.doubtnut.com/l/_g0Ud6tkeAa5M


Watch Video Solution

20. What reagent can be used for the following conversation ?

.

Watch Video Solution

HC = CH → H2C = CH2

21. How many neutrons are present in  moles of `^14_6C?

Watch Video Solution

5 × 10− 1

22. Determine the mass percentage composition of water (H=1.

o=16).

Watch Video Solution

https://dl.doubtnut.com/l/_g0Ud6tkeAa5M
https://dl.doubtnut.com/l/_T8ugZbPCAvOU
https://dl.doubtnut.com/l/_OP8t5jXzFiqp
https://dl.doubtnut.com/l/_9CpTZEV2fKKG


23. Mention Heiscenberg's uncertainly principle. Calculate the

uncertainty of velocity of an electron which have an uncertainty

in position of lA.

Watch Video Solution

24. Explain why  is not hydrolysed while  is hydroglysed

Watch Video Solution

Cl4 SiCl4

25. Why is the aqueos solution of borax alkaline?

Watch Video Solution

https://dl.doubtnut.com/l/_f8iRnLfXIpox
https://dl.doubtnut.com/l/_N5Dnt14sdVId
https://dl.doubtnut.com/l/_xluda8DYByIJ


26. Which reagent is called anmelectrophile in organic reation?

write with an example.

Watch Video Solution

27. Write the IUPAC names of the compounds

Watch Video Solution

CH2 = CHCH2CH2C = CH and CH3CH = CHCH2C = CH.

28. Mention two causes of soil pollution .

Watch Video Solution

https://dl.doubtnut.com/l/_Mthu3WoQmsZA
https://dl.doubtnut.com/l/_Pr2zPtERR61r
https://dl.doubtnut.com/l/_hwgPrmAKhPnl


29. How does the increase in the amount of  in the

atmosphere lead to global warming ?

Watch Video Solution

CO2

30. Write with an example the condition for two atoms tom be

considered as isobars .

Watch Video Solution

31.  is more stable than . Explain why? Which is more

paramagnetic?

Watch Video Solution

26Fe
3 + Fe2 +

https://dl.doubtnut.com/l/_6JT6YFzVn9pX
https://dl.doubtnut.com/l/_Sf4cu0N9vKoF
https://dl.doubtnut.com/l/_nKMASOCOQZmT


32. What are the quantum numbers by which an electron in an

atom can be designed?

Watch Video Solution

33. What is the maximum number of quantum number that may

be the same for two electerons of an atom ?

Watch Video Solution

34. The outermost electrons configuration of the atom of an

elements is  Mention the position of the elements in the

long periodic table.

Watch Video Solution

3s23p3.

https://dl.doubtnut.com/l/_2vqMld9NLoBU
https://dl.doubtnut.com/l/_IfHles8vdE45
https://dl.doubtnut.com/l/_25a6gr7gxJtc
https://dl.doubtnut.com/l/_B0kGsQaAwdzU


35. Why is the electron gain enthalpy of oxygen is less than that

of sulphur?

Watch Video Solution

36.  is paramagnetic, why?

Watch Video Solution

O2

37. Write the resonance structure of  ion.

Watch Video Solution

CO2 −
3

38. Why is boiling point of  grater than that of ?

Watch Video Solution

H2O H2S

https://dl.doubtnut.com/l/_B0kGsQaAwdzU
https://dl.doubtnut.com/l/_JGsfuF7gPOvE
https://dl.doubtnut.com/l/_F1Q9Sf7rJ35a
https://dl.doubtnut.com/l/_3NY6CbeQrkIZ


39. State Gay Lussac's law related to pressure and temperature of

a gas. 3.2g of sulphur when vaproised the sulphur vapour

occupies a volume of 280.2 mL at STP . Determine the molecular

formula of sulphur vapour under this condition . (S = 32)

Watch Video Solution

40. Determine the volume of  g of caabon dioxide at 

and 570 mm Hg pressur .

Watch Video Solution

2 ⋅ 2 27∘C

41. Write Hess's law.

Watch Video Solution

https://dl.doubtnut.com/l/_yUCe5QgQrUoh
https://dl.doubtnut.com/l/_q7e09QhzfGBy
https://dl.doubtnut.com/l/_nSKp0L0jiNul
https://dl.doubtnut.com/l/_PxhNXl8ZaZLg


42. For the following reaction at 298K 

 


 = 300 kj mol  and  = 0.2 kj mol^(-1)  At what

tempreature will the reaction become spontaneous considering

 and `DeltaS to be constnt over the temperature range?

Watch Video Solution

2X + Y → Z

ΔH ( − 1) ΔS K − 1

ΔH

43. What is the oxidation number of Mn in ?

Watch Video Solution

K2MnO4

44. Balance the following chemical equation by ion by ion

election method: 

 .

Watch Video Solution

Cr2O
2 −
7 + Fe2 + + H2 → Cr3 + + Fe3 + + H2O

https://dl.doubtnut.com/l/_PxhNXl8ZaZLg
https://dl.doubtnut.com/l/_0CvHvfM4IXse
https://dl.doubtnut.com/l/_XISjWoi06uOx


45. Balance the following chemical equation by ion by oxidation

number of method : NaNO  + Zn + NaOH  NH + Na

_2+ H .

Watch Video Solution

_ 3 → _ 3

_ 2ZNO _ 2O

46. What is the oxidation number of S in ?

Watch Video Solution

S8

47. What is heavy water ?

Watch Video Solution

https://dl.doubtnut.com/l/_XISjWoi06uOx
https://dl.doubtnut.com/l/_gftHvUL39VYQ
https://dl.doubtnut.com/l/_wzQRv71O6Byf
https://dl.doubtnut.com/l/_divkKYUBUleW


48. With balanced chemichal equation , give an example of

reducing property of H .

Watch Video Solution

_ 2O2

49. Show two canonicals of benzene by drawing . Benzene is

stored in a bottle . Is there existence of the two canonicals in

benzene of the bottle ? Answer with reason.

Watch Video Solution

50. Between and  which compound

undegoes heterolystic fission readily in water? Why?

Watch Video Solution

(CH3)3 − C − Cl CH3 − Cl

https://dl.doubtnut.com/l/_TWo7iJVdRap1
https://dl.doubtnut.com/l/_iL7Z7w3PcyVN
https://dl.doubtnut.com/l/_2JP5UH8TChGr
https://dl.doubtnut.com/l/_Ingz5oux5o7g


51. State law of mass action.

Watch Video Solution

52. What is Buffer solution.

Watch Video Solution

53. If the concentration of ammonia and ammonium chloride in

buffer solution of ammonia - ammonium chloride are 0.2 M and

0.3M respectively, deteimine the pH of the buffer solution.  (Given

 = 1.76 x 

Watch Video Solution

Kb(NH3) 10− 5

https://dl.doubtnut.com/l/_Ingz5oux5o7g
https://dl.doubtnut.com/l/_56nYnr3wgO9a
https://dl.doubtnut.com/l/_i23P7VDqH2VA


54. Determine the pH of 0.1 M acetic acid solution. (pKa of acetic

acid is 4.75) Is there any ^-ion present in this solution of

acetic acid? Answer with reason.

Watch Video Solution

OH

55. Why does rate of dissociation of H  in equeous solutin

decrease in the presence of HCL?

Watch Video Solution

_ 2S

56. Why is carbone monoxide toxic?

Watch Video Solution

https://dl.doubtnut.com/l/_YGLRbOhpdgbL
https://dl.doubtnut.com/l/_ZkiME7xdMYr6
https://dl.doubtnut.com/l/_8wQiLYyA29tc


57. Write with balanced chemical equation . what happens when

aluminium is heated with concentrated aquous solution of

cautstic potash.

Watch Video Solution

58. Write one use each of Silicones and Aplite.

Watch Video Solution

59. Two isomeric compounds A and B having the molecular

formula  form the same compound C on

dehydrobromination. C on ozonolysis produces acetaldehyde and

formaldehyde. Identify A. B and C.

Watch Video Solution

C3H7Br

https://dl.doubtnut.com/l/_9hbG7E5HaiBr
https://dl.doubtnut.com/l/_k3TsGa850WJN
https://dl.doubtnut.com/l/_bww5A2h2Qmut


60. How would you convert?

Watch Video Solution

61. Write the mechanisum of the following reaction : 

  

Watch Video Solution

CH4 + Cl2
Diffused

−−−−−→
Sunlight

CH3Cl + HCl

https://dl.doubtnut.com/l/_Lsc72PgbfPgW
https://dl.doubtnut.com/l/_xVkewTLmF6Og

